(a) NADP_SO,>

(b) EMEP_SO > (¢c) EANET_SO,*
1000 1500 — 2000 7
S= 09 NMB=)22 MFB= 86 » S= 04 NMBj-13.7 ’ S= 0.5 NMBg-24.7 e
B=30.9 NME %32.6 MFE= 32,1 B=-313 NME= 26.2 Pd B=-161.5 NME= 36.2 ,
1R= 08 / lR= 07 MPFB=- 69 4 R= 0.6 MFB=-23.0 4
800 p ~ 1200 ,
F=765 * N 7 F= 86.4 I\;I'FE= 246 1500 +F= 68.6 MfTE= 439
/ o0 7 i’
600 + 900 + / 4
—- 3 / P
] 2 4 21000 + / 4
g _” 12 § 7
=400 + PR = 600 +
200 + 300 +
L]
Y o
0 == " " " 0= " " ; ; " "
0 200 400 600 800 1000 0 300 600 900 1200 1500 0 500 1000 1500 2000
Observation Observation Observation
1000 (d) NADP_NO; 1000 (e) EMEP NO; 1000 (f) EANET_NO;
S= 12 NMB=737.6 S= 05 NMB=”94 ’ S= 08 NMB=,02 MFB=-26~
B=57.8 NME~39.6 L7 B=-220 NMEf 249 P B=-08 NME 7368 MFE= 47,8’
00 JR= 09 MFE=33.1 R4 o0 [R= 07 MFB=- 438 ,
F =66.9 M}lE =357 , F= 902 MFE= 243 L7
, /
4
4
= Vg ’ E =
2 ’ 123 z
s 7’ PR > s
4 -
Vs PR
rd
Ll
rd
rd
rd
400 600 800 1000 0 200 400 600 800 1000 0 200 400 600 800 1000
Observation Observation Observation
(g) NADP_NH,* (h) EMEP NH,* (i) EANET_NH,*
1000 = 1000 T— —7 = 2000 =4
S= 08 NMB35 12 , $= 06 NMB3- 14 MFB=-10 S= 06 NMB+- 54 J
B= 23 NME~ 206 L’ B=-40 NME~= 342 MFE=356 B=-287 NME= 451 ’
[R= 09 wMFB= 7.1 , 800 ’ R= 07 MEB=- 97 ’
800 , , ’
F= 875 MFE= 254 1500 +F= 60.5 MFE= 503 7
’ L
_ 600 _ o o7 .
= = /
2 _14 S1000 , oo
E rd E Ve Cd
400 Pae /s . _- -
e 2
500 1 -7
200 P
L]
: ; } 0 ; 0 : ; }
0 200 400 600 800 1000 800 1000 0 500 1000 1500 2000
Observation

Observation

Observation



